Jobooougbogoogd
obogoogoogo

2012000000

ggbbobouoooobobodao
goboboogn
5111a034-0
gooo

goobogg b

oo 202030



0 O
00

1 O00bOO0O0o0ooboobo
ooooogd

2 0J0OO0OO00OO0O0O0OobOOoobo
ooooooboooo

3 0O0ODOOOoooon
oooobooooon

goog

11

12



HEN

00000000 (Grébner System) 00 DO0O00000O000O (Compre-
hensive Grébner Basis) 00 00000000000000,0000000
oboooobooooboboooooboboooobooobooon.

ggjoooooooobobobobobbbtuddodoooo, oobobbo
gbooooooooooooboobooboobooobo.ogob,b0ooon
gooooooooooooooobooooo 1000, booboooo
00000000, GO IOD0000DO0OO00OO0bOODOOoboOoOoDOOgn
00o0ooooOooooon, 0000 GooOooo Iocoooooooon
gbooooooo. ooooooooboobobobooooobooooon
ooooooo, 0ooboo0 GobooooooboboOoooooobooooo
g.0gdobodbobogo,0ogb /ooobobobouoobuobooooo
goooooboooboog.

uboobooboooboooobobo,oboobooboobooooboooo
0000 Weispfenning [1]00000000. O0O00OOO,Dunn [2]00
g, jgobbogobbooobobobooobbuooobbbooo. oo
gbooobooboooobobooobooboooobooboooboOoboooon
gobooooog,0obooobobooobooobbooobooooooobon
obooo. 000, 0b000b000b00o0ooooocobooobooooooon
ggobobboooobooo.oobbooobbbooobbooo,bo
gboboooooooooboooobooboboboboo. ooooooo
gbobooooooooooobooboboboobooo, boboooooo
ggobdoobobo,oobbooobuoobobooboobooobboon
goooooo.

gboobooboooobobooooboooobobooooboon
gbooooobooobooo.ooooooooo,0oooooboooon
ggobbboooobooooboobouo.ooobb,booobboooobo
gojooooooobbbbobbbbtddg, oo b oo
goo.



1 ODooooooobood
oooon

gobooboobooobo,0oboobbo0bboboboobbooon
goooooooooooboobboooboboooo. 0odL,w oono
00000,2,2.000000,G = {uiz1 + 22, z2 + 1} C Q(uy)[z1, 2]
ogdod. bobobd z >z 00000000oooo, wp =100
0G={a;+a22,+1}000,G0 GOO000O00DOO (G)000
00000000000. 000w =0000000 G = {ag,ze+1}0
oo, 0p0o0o0o Ga <G>DDDDDDDDDDDDDDDD.DDDDD
G' = {wa1 + 2,22 + L,upz, —1}0000,000 QOODOODOOD,
0000 GO0 (F)YOOooOoUuoOoooUoooooO. 00 G¢oU0oO0,00
gdobobooouobooouobuooooboouobuooooboooo
gdooooooodo. oboboooooa Weispfenning[l]DDDDD
oood.

goo0oo0obooooboobboouboo,00bbooobooboooon
O 00dddooboddoooooo. boobobooooooo0od Dunn
[2}DDDDDDDD,DDDDDDDDDDDDDD.

k00000 u,...,u,00000000, 21,...,2,000000,
Q=k(uy,...,um) = k(u)

S =Qlx1,...,z,) = Q[z]
goog.

000 a,...,6,0000 a=(a1,...,a,) 00, 2] -2 =2>000.
M={2"laecz2,} 000, MOOOODOOO =000, feSODO
0,-0000 f00000 LT(f)000. LT(0) = LC(0) = LM(0) = 00
00D00. LT(f) = caz® (ca € Q) 000000, LC(f) = ca, LM(f) = 2°
00DO. FCSOOOLT(F) = {LI(f)|fe F}OOO, FOOOOOO
OooooD (FYoOoo.

Definition 1
I0SO000DbO0O0oo0.Do0bo GGesSoIoDoboooooooon
O, (LT(G))=(LT(/))D0oOoUoooooog.

000000000,G = {z; + 29,20+ 1}, I, = (G,) 00000
(LT(L)) = (z1,32) = (LT(G,)) 00000,6,0 000000000
00000.000 Gy = {ag,20+1}, L =(G,) 00000 5 — (z241) =
~1€ L, 000 (LT(L)) = (1) # (LT(Gs)) = (x,) 000,G.0 LO 000
oooooooo.



0000000 wuy,...,u,,0,0000 k00 ky,....k,00000000
O0O0o0:kul —kO0ODO0O. g€k O U(q)#ODDDDDD,a(g):

@DDDD. 000 f=)_ ce*esSO0000,0(f) =, 0(ca)z*0

a(q)
000000 00000000000000.00000 0:8 — kz]0

000,000 (specialization) 00O .
S ={0|c0000}000,FCSO000(F) ={o(f)|feF}0D
0.

Definition 2
oo0ooGECcsSooooo/oooooooooooooooo, ood
ceX0000,0(G)0 (¢(I))DOUDDODOODDDOOOODOODO.

0000000 /000000000000000000000, Weispfen-
ning [1]00000000.
0000000000000000000000,0000000.

De finition 3

00 (condition)y = (¢g,r) 000000000 O0OOOO.
(1)g,r0Q\kO000DO0OOO0O,gNr =9,
(2)f:§D ¢000»0000000,qer

O0~0000,

Sy ={oeX[o(f)=0(Vfeyg),a(f) #0(Vfer)}
0000.00004000000T0={y,...,7}00000000,

= U E'Yi
i=1

0ooO0oO0oooo.

fesnnno, filea*0~y0000000000000000O, 00
0oceXx, 0000 0(a)#000, 2% =2*000 fO0 cuz® 00000
0 o(ce)=00000000000. 0000 cz*=LT,(f)000. 000
0000000000000, Quy,us)zy, 2] 0000 21 =2, 00000
000000, y={w},{})0000.0000 %, ={ceX|o(u)=0}
00000, fi =wz + (u1 + 1200000 LT,(f1) = (w1 + Dz O
00. 000000 f, = ugay + (uy + 1)z, 00000 LT, (f,) 0000
00. 0000 o(uy) =00000000000€X, 000000000
0000000. 000000040 f000000000, LT,(f)00
O000000000. fOD 0000000 o(ce) =000000
00, 000 LT.(f)00000000,f04000000000000.
F={f,....f»}€S00000,0000:0000 ;04000000



gbooog, FUyOobOOooooboooooo.

Definition 4

000 SO00000000000000 {(y1, G1),...,(7s, Gs)} OO
oo /0000dooboboboooog, bboooogooooo.
()G,0 I00000oO0oooo,wOoooooooo.
2)L'={w,...,7s}00000D0O.
(3)000¢ex,0000,0(G)0 (¢c(I))0D0DDOOOO.

000 Qui)[x1,22)] 000000 oy =22 000,71 = (urz1 + 22, z2+1)
ooo. {(({}ﬂ{u})ﬂ{u1x1+x27x2+1})7(({u}7{})7{u1x1+x2’x2+1’u1x1_
1H}y0 /000000000000 O0O0OUoOO.

0000000000000 {(y1, G1),...,(ys, Go)} 000 (v, Gy) O
Grobner pair000. G=J,_,G;0 I0000000D0000O0OODO. O
000 /000000000000, 0000000 00ooooooooon
0000000 Weispfenning (1] 00000000000,

000000 k(vw) 0 k] DO00O0O0O00OD0O0OOODOO0ODO.



2 Joooobobouoooon
odgooobooogd

00000 Cox,Little,O’Shea [3]0 6 D000, Robotics 0000000
goo.

Joboooboooobooog, boobobooobooboooboboooooobo
gbooooooob. boboboobooooobobooboo, oo1,00
020020003003000, 00100000001 00000A0
0000000000000 (x,y) 0 00O, OO00<0000 ;00
0,0004¢0000 (G+1)00000 6 000(@100).

Y, (G2
0l f
V>73
)72 R 3
JEFE (a, b)
01
: B 1
V71

0 1. 0000000
gooooooooooooooboobo3ooog,
(m ) _ ( I3 cos(6; +92)+1200501> 1)
y I3sin(61 + 62) + o sin 64
gooooooog.

cos 0;

&

sin 01

8i

0oooo, ()00

x _ l3(6102 — 5152) + lscr
Yy I3(s1c2 — c182) + lasy



00000oo0. o0o000 00 (e,b)0000000O0O, DO0ODOOO
030000000000 ¢,s; 000000O0O00O0OO

fi=ls(cica — s182) +laci —a
fo=13(s1c2 —c152) +las1 — b
fz = cf + s% -1

f4:c§—|—8§—1

oooooOooooooOo.
Cox, Little, O’'Shea [3] 00 I, =13 =100000000000, 0000
ooooooooooo.
00000000000,1 = (f1, fa, f3, f2) O Rla,b)ley, ca, 51, 82] O
00000000000000. 0000 Reduce 00OD0D gsysOODO
O,e0>s>c>500000000000.000000000000.



H{a? +0> #0Na#0Ab#0,

{c% + s% —1,coc1 — S$251 +¢1 —a,co81 + S9¢1 + 81 — b, e —acy —bsy + 1, s% —
bsacy + asasy — (2a)c; — (2b)sy + (a? + b?), sa¢1 + ac1s1 + bs? — b, 5281 —
beisy + as?, (4a3)sg + (4a* + 8a%b? + 4b1)s3 — (4a*b+ 8a%b3 + 4b°)s? + (ab +
3a*b? +3a%b* +b%)s1 — (2a*b+2a2b?), ¢ + s — 1, (2a)c151 + (2b)s3 — (a® +
b%)s1, (a®+ab?)er +(2a% +2b%)s3 — (a?b+b%) s — 242, (4a*b+8ab> +4b°) s —
(4a*b? +8a* +8a2b* + 8a2b? + 4b5) 5% + (aSb+ 3a*b® + 4a*b+ 3a2b° + 4a2b® +
b7)s1 — (2a8 + 4a*h? — 8at + 2a2b?), (4a* + 4a2b?)s? — (4a*b + 4a?b3)s; +
(a8 + 2a*b? — 4a* + a®b*)}},

{a®>+b2#0ANa#0Aa%b+b® =0,

{c% + s% —1,coc1 — 8981 +¢1 —a, o8 + 89¢1 + 81 —b,cg —acy —bsy + 1, 8% —
bsacy + asesy — (2a)e; — (2b)s1 + (a® + b?), s9¢1 + acysy + bs? — b, sa51 —
beyst +as?, (4a3) sy + (da* + 8ab? + 4b*)s3 — (4a'b+ 8a?b3 + 4b°)s3 + (a® +
3a*b? + 3a?b* +b5)s1 — (2a*b+ 2a%b3), 3 + 57 — 1, (2a)c181 + (2b)s3 — (a® +
b?)s1, (a® + ab?)e; + (2a2 + 2b2)s? — (a®b + b3)s; — 2a%, —(4a*b? + 8a* +
8a?b* + 8a?b? 4 4b5)s? + (aSb+ 3a*b3 + 4a*b+ 3a%b° + 4a?b3 +b7)s; — (2a5 +
4a*b? — 8at + 2a%b*)}},

{a#0Na®+ab® =0,

{—20},

{b£0Aa=0,

{c§+s§—1,0201—3251+01—a,0231+5201+31—b, cz—acl—bsl+17s§—b3201+
ases1—(2a)cy —(2b)s1+(a?+b?), sac1+acy sy +bs2—b, 5251 —bey sy +as?, so—
ber, c3+s7—1, (2b)crs1—(a?+b%)ey, (20)s2 — (a2 4b2)s1, (2b)s1—(a?b+b%)} },
{a=0Ab=0,

{c% + s% —1,coc1 — 8981 +¢1 —a,co81 + S9¢1 + 81 —b,cg —acy —bsy + 1, s% —
bsacy + asasy — (2a)c; — (2b)sy + (a? + b?), s9c¢1 + acys1 + bs? — b, 5981 —

beyst + asi, so, ¢f + 5§ — 11}



Reduce 00O ODOODOODOO,00000D00DODOODOOOOOO. O
000000000 1000 a2+ #0Aa#0Ad*+* =00 1000
0000000000, v={a?b+b}, {a*+b% a})000.

0000000000000, 000 Grébner pair 0000, a? 4 b? #
0Aa#0Ab#£0000, 00000000
{3+ s3-1,
coC] — 8981 + 1 — a,

281 + S3¢1 + 81 — b,

cog —acy —bsy + 1,

53 — bsacy + asasy — (2a)e; — (2b)s1 + (a? + b?),

S9C1 —i—aclsl—l—bs%—b,

52517bclsl+as%,

(4a®)sy + (4a* + 8a2b? + 4b*)s3 — (4a*b + 8a2b® + 4b°)s? + (a8 + 3a*b? +
3a?b* +1%)s; — (2a*b + 2a2b?),

2 +s2 -1,

(2a)cys1 + (2b)s? — (a® + b?)sy,

(a3 + ab®)er + (2a% + 2b2)s? — (a?b + b)s; — 242,

(4a*b+8a%b3 +4b%)s3 — (4a*b? + 8a* +8a?b* + 8a?b? +4b°) 2 + (aSb+ 3a*b> +
4a*b + 3a2b° + 4ab® 4 b7)s; — (2a8 + 4a*b? — 8a* + 2a%b%),

(4a* + 4a2b?)s? — (4a*b + 4a®b>)sy + (a8 + 2a*b? — 4a* + a®b*)}
gob.00ddoodt {0 20000g0ooobboboo.ocooobbon
4,7,10000000,50 200000000000 ¢, ¢, s;0 0000
gobobooobo, oboobooboooa.

00+ £0Aa#£0Aa2b+b3=00000 a£0Ab=000000
0000,00000a¢a#0Ab0000000,20000000000
gg.

3000 a#0Ad®+ab? =000000000 R2O0DD0000 (a,b)0
ggodoobobooooooag.

4000b#0ANe=000000,0000 200000000000
uobde,s,s0O0O0OO0DOOOOODOO.

O00ae=0Ab=00000 ¢,s;,000000000, (a,b)0000O0O
00 (kinematic singularity) 00O .

gooooooooobbbbobbbuododoooouon, obboo
goobooboooobooboooooooooooooo. obobooo, oo
000 ¢ >89 >c¢1 >50000 R(a,b)[er,co,81,82] 000000000
gogoooobooboooogd.



{4(a® + b?)s? — 4b(a? + b?)s1 + (a* + 2a2b? — 4a® + b?),

2ac; + 2bs; — (a? + b?),

So — bcy + asy,

ca+ ¢t —acy + 83 —bs1}.

0000 100000200000000000, a®2+0240000#4000
O,s;02000000,000000 q,c,soc000000000O00O03.
4+ =00000b=00000000000000007000,00000
gobbdooodooooobobdoooooooooooooo. oo
oad a2+b27é0DD b=0000,00007I000000000b=0000
000000 I' = {e1ca—8183+¢1—a, s1¢a+C159+81, 2 +57—1,c3+s3—1) 0
000 r/o00000000o0o0o0oo0oo0. ocoooooooooooo
gooooobooooooooboobooooooooooo, ooboooa
ooooobboboooodoooodoooooooooooboooooa.
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3 duuuuoboouogd
oooooboogn

00000 k(uw)z]000 (ku))[z)000000000000000000
00Oo00o00O0o0O0ooo.
k(w[x)00000000000000000000000000.

oo

k0000,I0 k(w[z)00D000,G={n,...,,}0 10000000
0000000. 0000 GO I00000000000.

googno

000 felIOO0O0. 00 ¢€G00000 LT(g)LT(f)000000
ooooo.

LT(f) = gxa (p.€ klul, g € K[\ {0}, & € Z2,)
ooag,
el Dij . s n
9f=§:5%$’” (pij: € k[ul, gi,; € k[u]\{0}, cvi ; € Z%)
j=1 747
0oo.

Yx={oeX|op) o(q), o(pi;) olai;) #0(L<i<r, 1<j<si)}
00D00,k000000000 %, 0000000.00000,00p€
S.00000.

0000 GO I0000000000000000,00¢ € GOO
000, LT(p(g:)ILT(p(f)) 0ODO.000 p € ¥ 000 LM(p(g:)) =
LM(g;),LM(p(f)) = LM(f) D0000. 000 LT(g)LT(f) 00000
0. O

(ku])[x) DOO000O00OOOO0OOOOO. OO,I = (ux,y) C (klu])|z,y]

0000, G={ulr,y}00000, GO I00000000000000
0000,00000000000.

11
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gbobooooboooobooobooo,obooooooobooooooooa,ao
gbooooooooobooog.

good
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